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1.
. MYSTERY MRAZE ' Fﬁw Qflé{;t&
. VERSION 4.2 dhd %
. BY SUPER SOF TWARE

:RETURN ;NT=@;P=E}=}BC=24E;FC=125;R=B
GOSUB 188068; ®( 1)=-68;60SUB 15818;BOX 8,5,5,78,1;X=-70;Y=8; T=-88; GOSUB 11668

C¥=5;CY¥=-40; PRIMNT "SCORE: ", ;CX=58;CY=-46;PRINT #4,R,

BOX X,Y,2,2,13FOR J=1TO 35;NT=1;MU="T";NT=8; GOSUB 668

FOR K=1TO @

M=JX( 1)b2:N=JY(1)bZ;IF (M=B)b(N=B)GOTO 1308

IF X+M+320(2)3IF AK+M-3<2IIF Y+N+3I>@(3)IF Y+HN-3<{(e(3)605UB 15888
IF PXOX+M, Y+NI=1G0TO 25880

X=X+M;¥Y=Y+N; BOX X,V¥,2,2,1;Z=2+1;IF Z2=14GOSUE 11668@

IF X=78G0TC 3¥vuh

IF RND (75)=75G0OSUEB 744

IF RND (45)=45G0SUE 12088

NEXT KiNEXT J

BOX B,24,158,18,2;CY=24;CX=-38;PRINT *"0UT OF FUEL";G0TC 32888
BOX -48,-48,72,8, 1;RETURN i

BOX -~-¥75+7,-48,Jb2,B6,2;RETURN

G=18;H=-28;FOR "E=1T0O 4

FOR F=2TO ZBSTEP 2;BOX G,H,F,F,3;NEXT FiNEXT E
CX=G;CY=H;PRINT "%*,;LINE G+1,H-3,4;LINE -5,-38,3

FOR I=1TO 4;J=J+1;G0OSUB GBB;NT=2;MI="c";MU="1"INT=8:NEXT I
LINE G+1,H-3,3;CX=G;CY=H;PRINT " ",;RETURN

19996 CLEAR ; &(18)=0;BOX 8,5, 168,76, 1;B0X 8,5, 150,70, 2;FOR A=-68T0 EBSTEP 28;BOX
A,5,5,78, 1;NEXT A
18885 GOSUB . 588

1841

2 FOR A=-6BTO GASTEF ZB;GOSUB 28088;BOX A,B,5,P,2;NEXT A;&(18)=180; RETURN

11e@@ Z=B;BCX B©,T,5,P,3;:;T=(RND (6B8)-383+5;B0OX 8,T,5,F,2;RETURN"
12088 D=RND (5)-3;D=Db28-18;B0X D,5,15,78,3;IF (X>D-18)b(xX{I+180)G0TOC 1368646

1284

B BOX D,5,15,76,3:RETURN

13888 &(23)=255;F0R A=7Y5T0 BSTEFP ~1;&(Z1)=A;:NEXT A:;&(23)=8

1381

A BOX ©@,24,158,18,2;CX=-33; CY=24; PRINT "ELECTROCUTED":G0TO 32008

15988 BOX @(2),8(3),3,3,2;NT=3;MU="E" ;NT=0; J=J-5; IF J{1J=1
15085 GOSLIB 568; GOSUB 688;R=R+58; CX=58; CY=-40; PRINT #4,R,

1581
RN

B @(L)=@(1)+20;@(2)=8( 1 }+RND (5)~-3;@(3)=RND (58)-25;B0X @(2),@(3},3,3,3;:RETU

28888 B=(RND (68)-38)+5;RETURN
21888 P=P-1;IF P<2P=2
21885 Q=Q-1;IF &K3Q=3

2141

8 RETURNM

25808 %(21)=15;:F0R A=-95T0 -G54;&(19)=A;&( 18)=A; &(28)=ABS(ZbA); D=RND (18)-5;E=RND
(18)-5

25618 BOX X+D,Y+E,2,2,3;NEXT A; &(18)=0;&(19)=0; &(Z281=8;%(21)=H

25858 BOX 8,24, 158, 18,2;Cx=-24;C¥=24; PRINT "COLLISION":;GOTO 32060

388E0 GOSUB Z21888;:;L=J

3881

@ FOR A=LTO 35;J=A:BCX -75+J,-48,Jb2,6,2;NT=1;MU="K" iNT=08;R=R+18; CX=58; CY=-4

@B:PRINT #4,R, ;NEXT A
38P38 FOR A=1T0Q SPB;NEXT A;G0TO 18
32868 BOX 6,0, 15, 18, 2; CX=-24;CY=6; PRINT "GAME OUER

3281

8 IF &(Z23)RUN

32828 GOTO 32814

>



	Mystery Maze (Super Software)(BASIC Type-In).tif

